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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot [['I", "lopt’], ['T, "Topt’], ['RH, 'RHopt'], [ ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['setVlI ETcl’, 'setVI fgRec’,

"setVI_VN',

"s1SetVI' 1]
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Plot ['VI pcterr’, 'VO pcterr’, 'VN pcterr’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [[’ FVOEC:

r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP3-16_0

Warning: col ['minFVliraw' , 'minFVOraw' ] is missing

minFVI
minFVO

1.0 [ ) ETcAlraw L4

—— ETcAl
—8— ETcA

, "ETcA2'|] is missing

0.2 0.4

0.6

0.8 1.

Warning: col [ ETcA2raw’, 'ETcA2avg’, 'ETcA2’] missing

0.0

—@— ECopt
4500 1" —e—  ECI

—@— ECO
4000 -

3500
3000

2500

]
=

2000 ;.

Warning: col—["ECC" ] is missing

arning: col["PHC ] is missing

31.5 4

31.0 -

30. 5

30.0 -HWH&FH**H&FH‘“H&F‘-WW

29.5

29.0

28.5

Warning: col [ WCperMraw’ , 'WCperMavg'] is missing

—@— WCperM

0.50 7-0-000-000-0-00-0-0-00-00000000000000000000000000000000000000000000000600000

0. 45

0. 40 -

0. 35 A

0.30 —m&ﬁm

0. 25 A

0.20 )—0-0—0-00-00-0-0-0-0-00-0-00-00000000000000000000000000000000000000000000000000

—@— minDeltaM
—0— avgDeltaM
—@— stdDeltaM

30 A

28 A

26 -

24 -

22 -

——
——

20 700000000000 0000000000000000000(

begM
maxM

") 0099000000000000000000000000004

adjFVOR

-0. 02 ~

-0. 04 ~

Warning: col [ adjFVIRraw', "adjFVIR", "adjFVORraw' ] is missing

FRA
FRC
FRraw
FR

et o o ot e o

60

58

56

54 -

52

50 -

48 ~

46

44

—@— beg wc

10 20

30

40

50 60

400 -

350 A

300 -

250 ~

200 -

150

100

50 ~

([ postFgEtraw
—@— postFgEtavg
—@— postFgEt




- 100

FgDai ly

- 80
- 60
- 40

O\
@y

100 In A I..@\

0-
3_
6 —
9 -
12 -
15 -
18 -
21 -

-024_
27 -
30 -
33 -
36 -
39 -
42 -
45 -



e F\/NN
. A Y
v I
- N /r\ | advar
Y \/ \ /
z: Ao
: A\
33 .. Wﬂ\\ A
ZZ A A\ e | ¥
| e W 4 v E
i /\\ =
LA \
|/ NN ~\ /\/ VRV adke
IS A V.V Y
\ : V i
~ i
o e " |
wod N 2 f\ /\'\Y A ’—o T\\ T_.\,A " i
Y \\f S/AVERE LTATR Y T
) | |
- A N
A /hﬁ\*/\ //\‘\/\ / Y/\\/ \\ //“\\ / \\ / \\ /W
I\ \/ || VY
. \ | \ ;
y \/ V b
: | /AL A .
0 A NN
) \ VAV /7
1 //\/\J STV \.
: i VAvA A /MVM
et YN Y




ESo ETclis ETcPT ETcP ETcldef ETcl

T PPFD | VN pVPD pR  ETbai ETol

RH

ETcI ETcIdef ETcP ETcPT ETC|IS ESo EToI ETbal pR pVPD

PPFD

1.0

0.8

0.6

0.4

-0.2

-0.0



ETcl

VN

1200 +
®
1000 + ..) . : .
e %° : ) 3
- . 3,. °d o e o060
B e o o 0
° o® X ’ . (
600 ) . : | : |
4 » ° o®® Y 3
. o ° .
° ° - o 3
- | | .. . . % .o’ e 9
S
Y o ® ® e © ¢ .‘. “
g : | | . ® o
| . oo ° .’.‘ °
. °
0 4 ° ® ® [ v e .. S . . ..
0o o0 &L » * ot . o
1 o . - ° o ®, B °® : . . | .
Ke . . I | . % Qo o © oa ® e
[ ] T _ ’ ’ #
| - | o °7e
1400 1 _e o ' ' . o> ’ S 4
.‘ . .. o [ Y o o @ (J ) Y T T | @ ..0 o)
00 8 S o ® ®e °© ° ® “ o® ° ' . . % e )
® ..' ® o4 0° ° ® o o‘ $ - I I I
)2 o a®e .rg- o ° e% o & ° ° ° ° -
o (] .‘ ® ( 1] .. * : r. .
° ° o 0% ) ® o0 ® "5
z | o o ® o ® [ ] Q¢
0 ® ® * ) ) - '
° ° ® ° iy o gs
6 ® o o ® ° ha
o | . . ° ° .‘9 R
J
° ° ‘
. | . . P (] . ° ® ® ®
.. | . ) e o
200 -+ T . | | | .. |
26 - | : | | |
° | . 8 |
24 _ . T T T . . .
s T T T .
22 | . . T T T .
a® ° . I
@ ;. I
N L.?. . . & . (J Q ° T T
_ o H ® P .. s. PY ® .. Y L)) ® ) o
18 %% o® aadd o . :
. >0 o | ‘ .
9 ® ° ° ® as © L «* PY °° 2 ° ’ :
161 o 0o ® °° S o o oo o® 0%, 0% ‘.% ° - 0
() .. ( Y °o® b PY ® @, ® o0 ® o ®e ¢ ; .’
1wl e e o °® o’ > o ¢ s
" (4 ([ ] Y ® ) (] * " A..;..
e ° ° ® oo % ° ® .0 ] )
I ¢
90 A T : ® ° i .. ) ) v e ’ ¢ N g..
° ' : . . | | -
I . ° ® o
° . . .
| ’. o o0
80 - ) () I I I .. . |
. . . T T T .
° . I |
70 Py ° .. .. ° () o o ) | I I I I
E . .. o o (.. O. o® P ®
60 - .. ® PY ® ® °® .s o, .. y . .
e ® ° o ‘:‘ % ® o ofe | .
50 ® ° o ®® % ° 3 ) .
Oo e ® o Y ) % oo . :
(.. ® oo ¢ .. | ('.. .
) : . e oo °
| o0 y %
T T [ .. | . : .. .
1400 ' , b . | 3
_ ] T o ©® . .s |
12 . T T T .
: .. . o o ¢
1000 + * . |
0 o o ® r L I I I |
o ) ..). L) ° ° .
° * ° |
i o %o ° o° o) o
600 ® Ok
: . s ° o ® ® ()
- . S ° . 0. 9‘. o ) :
. . ° ° ¢
200{ o° ¢ . . :
. o o .‘
K e . o ° °
| g . A . N °. ° e o
T T T ° e O ° '..‘. .’. ° .. ..
400 . , ° ¢ o o N o | .
_ A T T . .
0 oge o« 0 e o el ) . | :
L. . % w0, 0® Yy o %o, o ° ®
i r.o‘ e o ° ° ° ,‘é‘a“o’)‘ ° . o® e I . ...2
250 [ ) of® °- k".og.. o I I I
) o o0’ o * e )
200 1 % () . ; . )
° e ¢o° ° y ’
150 4 )
e o % ° ’ ;
° | |
100 - ° | L ’
| % ®
501 © ’ . |
T
0 T T . .
500 1000 : I - |
el 500 1000 I I
1500 I :
ETol b 2 | | .
25 40 I I -
; 60 :
80 0 5I I I
o 00 1000 1500 100
y 2
\ 00I 300 400



2500 - ® obs 1400 4 Fit vs obs: a=1.06, b=-104.54, r=0.92
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P3-16

BfiE) | EBATIC () | EBE (EH/HK) = ERE

07:20 117 150.0 Be| ThiHHe07:20 REFEF (KAEZRER)
08:05 117 150.0 B5| TNHA@08:05 KRENFERF (ARF1EREER)
08:55 117 150.0 R5| FiHAe08:55 REIEF (KRFEERE)
09:55 117 150.0 Be| ThHH@09:55 REFEF (KRFAEZRER)
10:45 117 150.0 B5| TNHA@10:45 KRENFEF (RAfEREE)
11:30 117 150.0 R5| TiHAe11:30 KRHERF CRAEHS)
12:10 117 150.0 Be| TiHje12:10 REEF (KAEZRE)
12:50 117 150.0 RS FiHRe12:50 KREEF (REAERSE)
13:30 117 150.0 RS FhHA@13:30 KENFEF (RAfEEE)
14:15 117 150.0 RS ThHAe14:15 KEIEF CGRAFER)
15:00 117 150.0 RS FiHAe15:00 KREEF (REAEHS)
15:55 117 150.0 RS FmHA@15:55 KENFEF (RAAfEEER)
2it] 1404.0 (12%) 1800. 0 3ESHKEC: 2080.0, PH: 5.8

FEKECE (2385.0 vs 4770.0) d5




FRV (ml plant-1)

ET (ml/hr/plant)

P3-16_0, Day=48 (2025-05-18)
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P3-16

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR e

07:55 120 150.0 |Z=| 1RiB@07:55 KEFEF (RAFEESE)
08:45 120 150.0 (& =| {Ri%e08:45 KEFEF (KRR
09:35 120 150.0 (B =| {Ri&e@09:35 KENFEF (RATREE)
10:30 120 150.0 |Z=| 1RiR@10:30 KEFEF (RAFESE)
11:40 120 150.0 Be| BRi%e11:40 REEF (KRAEZRE)
12:30 120 150.0 Be| BRi%012:30 RHEF (KRAEZRRE)
13:25 120 150.0 S| Rige13:25 KMEF (KPBHEREE)
14:15 120 150.0 Be| BRi%e14:15 REEF (KAERE)
15:05 120 150.0 RS {Rige15:05 KEIEFE CGRAFER)
231+11080.0 (9:%) 1350.0 329333 %EC: 2080.0, PH: 5.8

REREBIEC (2550.0) HiZEEC (2000.0) REI KA, BHEE
FERECE (2550. 0 vs 4655.0) 145



FRV (ml plant-1)

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=47 (2025-05-17)
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P3-16

BTiE) | EBIATK (FD) | EME (EH/HK) | XKR ERR

07:30 124 150.0 R5| 1Ri%e07:30 KRHIERF (RAEHS)
08:30 124 150.0 Ag| 1Ri%@08:30 KENFEF (KAEEES)
09:40 124 150.0 (B =| {Ri&@09:40 KENFEF (RATREE)
10:40 124 150.0 (=] 1{Bi%e10:40 KHEF (GHEAERSE)
11:35 124 150.0 (2 =| {Ri&e11:35 KHEF (RFAKESE)
12:30 124 150.0 (B =| {Ri&e12:30 KEEF (RAKESE)
13:25 124 150.0 (=] {Bige13:25 KkmMiEF (FHAERSE)
14:20 124 150.0 (2 =| {Ri&e14:20 KHEF (RFAKESE)
15:10 124 150.0 |Z=| 1Ri%015:10 KREIEHF (REAEESE)
=it 1116.0 (9%) 1350. 0 32933 %EC: 2080.0, PH: 6.0

REREBIEC (2635.0) H5iZEEC (2000.0) REK KA, BHEE

HEEHECE (2635.0 vs 4335.0) 15




P3-16_0, Day=46 (2025-05-16)
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P3-16

BriE) | EBIATK (FD) | EHE (EH/HK) | XK ERE

07:45 135 150.0 (=] 1{Bi&e07:45 KHMEF (FEAEKSE)
08:35 135 150.0 (2 =| {Ri%e08:35 KEEF (FRFAIEEE)
09:35 135 150.0 FH| {FRi%@09:35 KRENFZF (KRAATRELES)
10:25 135 150.0 B5| 1Ri%e10:25 KRHEF (RAEHS)
11:15 135 150.0 BE| Bige11:15 RHEF (KAEZRSE)
12:15 135 150.0 B Rige12:15 kEEF CGRAFER)
13:00 135 150.0 el 1BRi%@13:00 REEF (REAEZRHE)
13:55 135 150.0 RS 1Ri%@13:55 RHEIEF (REERSE)
14:40 135 150.0 S| BRiR014:40 RHIEF CGREAERSR)
15:30 135 150.0 el 1BRi%@15:30 REEF (REEZRHE)
23] 1350.0 (10%) 1500. 0 3233 %EC: 2080.0, PH: 5.8

large discrepency for begining water status (165:6.0), set to 165 ml.

REXEEBIEC (2655.0) 5% FEEC (2000.0) REKR A, HFHE
BE[EIRECE (2655. 0 vs 4640.0) 1T 5




FRV (ml plant-1)

ET (ml/hr/plant)

ET (ml/hr/plant)

P3-16_0, Day=45 (2025-05-15)
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P3-16

BfiE) | EBIETK (D) | EB=E (EH/EK) | XK EFE

11:30 135 150.0 FH| {Rig@11:30 KREFEF (RATREES)
12:25 135 150.0 FA| {Ri%e12:25 KEiEF (KRAEES)
13:10 135 150.0 |Z=| 1Rig013:10 KREIEF (REAERESE)
13:55 135 150.0 (B =| {Ri&e13:55 KEHEF (RFAKRESE)
14:40 135 150.0 |[Z=| {Ri%e14:40 KRHIEF (RARES)
15:25 135 150.0 |Z=| 1RiRO15:25 KREFEF (RAERSE)
=it 810.0 (6%) 900. 0 3ESFHKEC: 2080.0, PH: 5.6

large discrepency for begining water status (358:6.0), set to 358 ml.
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